10 times table

Count in 10s, color, and find a pattern.
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Write the answers.
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6 x 10 = 7 x 10 =
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Each box contains 10 crayons. How many crayons are there altogether?
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10 times table

Count in 10s, color, and find a pattern.
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Write the answers.
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Each box contains 10 crayons. How many crayons are there altogether?

pum g 2 |setsof 10 | 2 | x 10 | =20 crayons
Mg, T IR A
4 setsof 10 | 4 x 10| = 40 crayons
xmmm xmmm xmmm

e © setsof 10 © x 10 =0
MR AINB, AIND sets O = crayons
==
IR, TR, AT, AR, AT
U e
T, QYT AR, QM crayons
==

© DK Publishing [2010] ‘C@oreat




